Physics

Ch. 6 Lab I: Measuring V, A, and F for UCM

In this lab your team will explore Uniform Circular Motion using the CBR2. Your goal is to design an experiment where you use the motion detector to measure the Period (T) of the rotation of a stopper as you swing it in a circle as shown in the diagram below. You must maintain a circular path that is parallel to the ground. To do this you will vary the radius of the orbit and the weight that is hanging. Collect the data for Period (T), Radius (r), Mass (m), Velocity (v), Centripetal Acceleration (ac), and Centripetal Force (Fc) for four different radii/weights. Document your work and present your data in a table.
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	Trial
	Radius of Orbit
(r)
	Hanging Weight
	Mass of Stopper
(m)
	Period

(T)
	Velocity
(v)
	Centripetal Acceleration
(ac)
	Centripetal Force
(Fc)
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1. Explain your Experimental Design.
2. Make a sketch or include a photo.

3. Look at a plot of the data and explain the relationships you see. You have 6 variables so look at these plots:

a)  T vs. r
b)  v vs. T

c)  v vs. r

d)  ac vs. r

e)  ac vs. v

f)  Fc vs. ac

g)  Fc vs. r

4. What other plot do you think is worthy of this experiment?

5. What does the Hanging Weight represent in these relationships?

David A. Young
page 1
02/17/2008

